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Chapter 8: Decimals

Convert fraction to decimals

Let’s do exercise together.

Covert fraction +o decimals. Please write doww the correct answer.

2

ﬂ\m@
2‘%@
3 = =
4 — =
5. = =
b = =
7o =
6 — =
a. = =
10.%2>
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Compare decimals

which sign makes the statement true? Please fill in the

blavk space.

2. 0.2
2. 115
4. 0.99%
5. 0.62
. 0.4
1. 0.57
©. 0.22
a. 0.6

10. 2.26

0.5
0A
0.64
0.5
1.6
0.7
0.1
0.2
0.4

250

1. 0.5

12.
12.
14.
15.
16.
17.
10.

14.

0.0%
252
244
a.0
0
541
125

2.1

20. 0.9

0.65
0A
140
122
11
0.5
N
2.21
0

0.21
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Please circle the correct answer.

1.419 < 2419 True False
2.019 < 1.49% True False
2.249 > 0. True False
4.9 < 1041 True False
52295 > 249 True False
b. .29 < 1.29 True False
F.222 < 249 True False
.05 > 227 True False
4. 214 < 0449 True False
10. 099 < A1 True False
1M.312 > 1406 True False
12. 066 > 2 True False
12.045 > 156 True False
141212 < 1243 True False
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Addition of decimals

Please write the correct answer.

L[ 505 | * | 154 |

)
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)
——

2 [ 4 | # [ 208 |

)
——

5 [ 319 | # [ 037 |

)
——

4\[ 4.51 J . [ 1.449 J

)
1
PN

——

1l

)

—

5. [ A7 J =

é\[o\15]+[%m]=[ ]
7\[1\oz]+[542]=[ ]
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Please write doww the correct answer.

1. 259 + 0.2% =

2. 916 + #1419 =
2. 269 + 059 =
4, 05D + 25 =

5. 2540 + 24%

I

b. 24% + 59 =

+. 254 + 411 =

D, 5149 + 111 =

4. 52 + 439 =

10. #44+ + 0.0 =

M. 442 + 222 =

12. 9149 + 1.0% =

12. 026 + g =

14, 329 + %4 =
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Sultraction of decimals

Please write the correct answer.

) - e

)
——
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Please write doww the correct answer.

1. 49 - 1 # =
2. 2% - 401 =
2. 027 - 536 =
4. 136 - 5249 =
5. A4 - 044 =
. ©2a - 139 =

7. 3220 - 133 =

. 323%% - 247 =
4. 549 - 409 =
10. 0.%% - 043 =
M. 249 - 159 =
12, 449 - 2.M =
12. 240 - 134 =
14. 1075 -  2.69 =
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Please write doww the correct answer.

1. 259 + 111 =

2. 629 - 4149 =
2. 421 + 4419% =
4. 54 - 1.0% =

5. 11 - 3533

I

b. 52% + 01 =

1. D52 2.29 =

|

I

A 47 + 0.09

4. 329 - 112

Il

10. 10.2 - 1.9 =

M. 0 + 01 =

12, 246 - 5069 =

12. 452 - 122 =

14. 500 + 64D =
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